



The relationship between the solutions according to the noniterative method and the generalized differentiability of the fuzzy boundary value problem

Hülya Gültekin Çitil^{1*}

Abstract

In this paper is studied the fuzzy boundary value problem according to the noniterative method and according to the generalized differentiability. Comparison result and relationship between them are given. It is seen on the example.

Keywords

Two-point fuzzy boundary value problems, Fuzzy differential equation.

AMS Subject Classification

03E72, 34B05

¹Department of Mathematics, Faculty of Arts and Sciences, Giresun University, Giresun-28100, Turkey.

*Corresponding author: ¹ hulya.citil@giresun.edu.tr

Article History: Received 21 July 2018; Accepted 26 October 2018

©2018 MJM.

Contents

1	Introduction	781
2	Preliminaries	781
3	Findings and Main Results	782
	References	786

1. Introduction

Fuzzy differential equations is investigated by many researchers [1–3, 5–7, 14, 15]. Because fuzzy differential equations are a suitable tool for modeling science and engineering problems in which uncertainties. Fuzzy differential equations can be studied by different approach. The first approach is Hukuhara differentiability. The second approach is generalized differentiability [17]. Two-point boundary value problems have four different solution using the generalized differentiability. The third approach is to generate the fuzzy solution from the craps solution [7, 8, 11, 13].

In this paper is studied the fuzzy boundary value problem according to the noniterative method and according to the generalized differentiability. Comparison result and relationship between them are given. It is seen on the example.

2. Preliminaries

Definition 2.1. [18] A fuzzy number is a function $u : \mathbb{R} \rightarrow$

$[0, 1]$ satisfying the properties normal, convex fuzzy set, upper semi-continuous on \mathbb{R} and $cl \{x \in \mathbb{R} \mid u(x) > 0\}$ is compact, where cl denotes the closure of a subset.

Let \mathbb{R}_F denote the space of fuzzy numbers.

Definition 2.2. [17] Let $u \in \mathbb{R}_F$. The α -level set of u , denoted $[u]^\alpha$, $0 < \alpha \leq 1$, is

$$[u]^\alpha = \{x \in \mathbb{R} \mid u(x) \geq \alpha\}.$$

The notation, denotes explicitly the α -level set of u . The notation, $[u]^\alpha = [\underline{u}_\alpha, \bar{u}_\alpha]$ denotes explicitly the α -level set of u . We refer to \underline{u} and \bar{u} as the lower and upper branches of u , respectively.

Remark 2.3. [10, 17] The sufficient and necessary conditions for $[\underline{u}_\alpha, \bar{u}_\alpha]$ to define the parametric form of a fuzzy number as follows:

\underline{u}_α is bounded monotonic increasing (nondecreasing) left-continuous function on $(0, 1]$ and right-continuous for $\alpha = 0$,
 \bar{u}_α is bounded monotonic decreasing (nonincreasing) left-continuous function on $(0, 1]$ and right-continuous for $\alpha = 0$,
 $\underline{u}_\alpha \leq \bar{u}_\alpha$, $0 \leq \alpha \leq 1$.

Definition 2.4. [17] For $u, v \in \mathbb{R}_F$ and $\lambda \in \mathbb{R}$, the sum $u + v$ and the product λu are defined by $[u + v]^\alpha = [u]^\alpha + [v]^\alpha$, where means the usual addition of two intervals (subsets) of

\mathbb{R} and $\lambda [u]^\alpha$ means the usual product between a scalar and a subset of \mathbb{R} .

The metric structure is given by the Hausdorff distance

$$D : \mathbb{R}_F \times \mathbb{R}_F \rightarrow \mathbb{R}_+ \cup \{0\},$$

by

$$D(u, v) = \sup_{\alpha \in [0,1]} \max \{ |u_\alpha - v_\alpha|, |\bar{u}_\alpha - \bar{v}_\alpha| \}.$$

Definition 2.5. [18] If A is a symmetric triangular numbers with supports $[a, \bar{a}]$, the α -level sets of $[A]^\alpha$ is

$$[A]^\alpha = \left[a + \left(\frac{\bar{a} - a}{2} \right) \alpha, \bar{a} - \left(\frac{\bar{a} - a}{2} \right) \alpha \right].$$

Definition 2.6. [12, 17, 19] Let $u, v \in \mathbb{R}_F$. If there exists $w \in \mathbb{R}_F$ such that $u = v + w$, then w is called the Hukuhara difference of fuzzy numbers u and v , and it is denoted by $w = u \ominus v$.

Definition 2.7. [4, 12, 17] Let $f : [a, b] \rightarrow \mathbb{R}_F$ and $t_0 \in [a, b]$. We say that f is Hukuhara differentiable at t_0 , if there exists an element $f'(t_0) \in \mathbb{R}_F$ such that for all $h > 0$ sufficiently small, $\exists f(t_0 + h) \ominus f(t_0)$, $f(t_0) \ominus f(t_0 - h)$ and the limits

$$\lim_{h \rightarrow 0} \frac{f(t_0 + h) \ominus f(t_0)}{h} = \lim_{h \rightarrow 0} \frac{f(t_0) \ominus f(t_0 - h)}{h} = f'(t_0).$$

Definition 2.8. [17] Let $f : [a, b] \rightarrow \mathbb{R}_F$ and $t_0 \in [a, b]$. We say that f is (1)-differentiable at t_0 , if there exists an element $f'(t_0) \in \mathbb{R}_F$ such that for all $h > 0$ sufficiently small near to 0, exist $f(t_0 + h) \ominus f(t_0)$, $f(t_0) \ominus f(t_0 - h)$ and the limits

$$\lim_{h \rightarrow 0} \frac{f(t_0 + h) \ominus f(t_0)}{h} = \lim_{h \rightarrow 0} \frac{f(t_0) \ominus f(t_0 - h)}{h} = f'(t_0),$$

and f is (2)-differentiable if for all $h > 0$ sufficiently small near to 0, exist $f(t_0) \ominus f(t_0 + h)$, $f(t_0 - h) \ominus f(t_0)$ and the limits

$$\lim_{h \rightarrow 0} \frac{f(t_0) \ominus f(t_0 + h)}{-h} = \lim_{h \rightarrow 0} \frac{f(t_0 - h) \ominus f(t_0)}{-h} = f'(t_0).$$

Theorem 2.9. [16] Let $f : [a, b] \rightarrow \mathbb{R}_F$ be fuzzy function, where $[f(t)]^\alpha = [f_\alpha(t), \bar{f}_\alpha(t)]$, for each $\alpha \in [0, 1]$.

(i) If f is (1)-differentiable then f_α and \bar{f}_α are differentiable functions and $[f'(t)]^\alpha = [f'_\alpha(t), \bar{f}'_\alpha(t)]$,

(ii) If f is (2)-differentiable then f_α and \bar{f}_α are differentiable functions and $[f'(t)]^\alpha = [\bar{f}'_\alpha(t), f'_\alpha(t)]$.

Theorem 2.10. [16] Let $f' : [a, b] \rightarrow \mathbb{R}_F$ be fuzzy function, where $[f(t)]^\alpha = [f_\alpha(t), \bar{f}_\alpha(t)]$, for each $\alpha \in [0, 1]$, f is (1)-differentiable or (2)-differentiable.

(i) If f and f' are (1)-differentiable then f'_α and \bar{f}'_α are differentiable functions and $[f''(t)]^\alpha = [f''_\alpha(t), \bar{f}''_\alpha(t)]$,

(ii) If f is (1)-differentiable and f' is (2)-differentiable then f'_α and \bar{f}'_α are differentiable functions and $[f''(t)]^\alpha = [\bar{f}''_\alpha(t), f''_\alpha(t)]$,

(iii) If f is (2)-differentiable and f' is (1)-differentiable then f'_α and \bar{f}'_α are differentiable functions and $[f''(t)]^\alpha = [f''_\alpha(t), \bar{f}''_\alpha(t)]$,

(iv) If f and f' are (2)-differentiable then f'_α and \bar{f}'_α are differentiable functions and $[f''(t)]^\alpha = [\bar{f}''_\alpha(t), f''_\alpha(t)]$.

3. Findings and Main Results

Consider the solutions of the following problem

$$L := \frac{d^2}{dt^2},$$

$$Lu + u = [g(t)]^\alpha, \quad (3.1)$$

$$u(0) = [\varphi]^\alpha, \quad u(1) = [\psi]^\alpha, \quad (3.2)$$

where

$$[g(t)]^\alpha = [g_\alpha(t), \bar{g}_\alpha(t)] = [g(t) - 1 + \alpha, g(t) + 1 - \alpha]$$

is fuzzy function,

$$[\varphi]^\alpha = [\varphi_\alpha, \bar{\varphi}_\alpha] \quad \text{and} \quad [\psi]^\alpha = [\psi_\alpha, \bar{\psi}_\alpha]$$

are symmetric triangular fuzzy numbers.

The Solution According to the Noniterative Method

[9] Let look for the solution of the problem (3.1)-(3.2) as

$$u(t) = u_1(t) + \lambda u_2(t), \quad (3.3)$$

where λ is a constant to be determined.

Substituting the equation (3.3) in (3.1), we have

$$u_1''(t) + u_1(t) = [g(t)]^\alpha,$$

$$u_2''(t) + u_2(t) = 0.$$

From the first boundary condition, we have



$$u_1(0) + \lambda u_2(0) = [\varphi]^\alpha,$$

$$u_1(0) = [\varphi]^\alpha, u_2(0) = 0.$$

If

$$u_1'(0) = 0, u_2'(0) = 1,$$

the unknown constant λ is identified. Then, from the second boundary condition,

$$u_1(1) + \lambda u_2(1) = [\psi]^\alpha$$

$$\lambda = \frac{[\psi]^\alpha - u_1(1)}{u_2(1)}$$

is obtained. Then, fuzzy initial value problems

$$\begin{cases} u_1''(t) + u_1(t) = [g(t)]^\alpha \\ u_1(0) = [\varphi]^\alpha \\ u_1'(0) = 0 \end{cases} \quad (3.4)$$

and

$$\begin{cases} u_2''(t) + u_2(t) = 0 \\ u_2(0) = 0 \\ u_2'(0) = 1 \end{cases} \quad (3.5)$$

is solved. The solution of the problem (3.4) is

$$\underline{u}_{1\alpha}(t) = c_1(\alpha) \cos t + c_2(\alpha) \sin t + \underline{u}_{p\alpha}(t),$$

$$\bar{u}_{1\alpha}(t) = c_3(\alpha) \cos t + c_4(\alpha) \sin t + \bar{u}_{p\alpha}(t),$$

$$[u_1(t)]^\alpha = [\underline{u}_{1\alpha}(t), \bar{u}_{1\alpha}(t)],$$

where

$$[u_p(t)]^\alpha = [\underline{u}_{p\alpha}(t), \bar{u}_{p\alpha}(t)]$$

is the solution nonhomogeneous fuzzy differential equation in (3.4). Using the initial conditions, the coefficients $c_1(\alpha)$, $c_2(\alpha)$, $c_3(\alpha)$, $c_4(\alpha)$ are obtained as

$$c_1(\alpha) = \underline{\varphi}_\alpha - \underline{u}_{p\alpha}(0), c_2(\alpha) = -\underline{u}'_{p\alpha}(0),$$

$$c_3(\alpha) = \bar{\varphi}_\alpha - \bar{u}_{p\alpha}(0), c_4(\alpha) = -\bar{u}'_{p\alpha}(0).$$

The solution of the problem (3.5) is

$$\underline{u}_{2\alpha}(t) = a_1(\alpha) \cos t + a_2(\alpha) \sin t,$$

$$\bar{u}_{2\alpha}(t) = a_3(\alpha) \cos t + a_4(\alpha) \sin t,$$

$$[u_2(t)]^\alpha = [\underline{u}_{2\alpha}(t), \bar{u}_{2\alpha}(t)].$$

Using the initial conditions, the coefficients $a_1(\alpha)$, $a_2(\alpha)$, $a_3(\alpha)$, $a_4(\alpha)$ are obtained as

$$a_1(\alpha) = a_3(\alpha) = 0,$$

$$a_2(\alpha) = a_4(\alpha) = 1.$$

Then,

$$[u_2(t)]^\alpha = [\sin t, \sin t].$$

Since

$$\lambda = \frac{[\psi]^\alpha - u_1(1)}{u_2(1)},$$

$$\underline{\lambda}_\alpha = \frac{\underline{\psi}_\alpha - [(\underline{\varphi}_\alpha - \underline{u}_{p\alpha}(0)) \cos(1) + \underline{u}_{p\alpha}(1)]}{\sin(1)} - \underline{u}'_{p\alpha}(0)$$

$$\bar{\lambda}_\alpha = \frac{\bar{\psi}_\alpha - [(\bar{\varphi}_\alpha - \bar{u}_{p\alpha}(0)) \cos(1) + \bar{u}_{p\alpha}(1)]}{\sin(1)} - \bar{u}'_{p\alpha}(0)$$

$$[\lambda]^\alpha = [\underline{\lambda}_\alpha, \bar{\lambda}_\alpha]$$

is found. Since the solution of the problem (3.1)-(3.2)

$$u(t) = u_1(t) + \lambda u_2(t),$$



the lower and the upper solutions the fuzzy problem (3.1)-(3.2) are

$$\underline{u}_\alpha(t) = \left(\underline{\varphi}_\alpha - \underline{u}_{p\alpha}(0) \right) \cos(t) + \left(-\underline{u}'_{p\alpha}(0) \right) \sin(t) + \underline{u}_{p\alpha}(t) + \underline{\lambda}_\alpha \sin(t),$$

$$\bar{u}_\alpha(t) = \left(\bar{\varphi}_\alpha - \bar{u}_{p\alpha}(0) \right) \cos(t) + \left(-\bar{u}'_{p\alpha}(0) \right) \sin(t) + \bar{u}_{p\alpha}(t) + \bar{\lambda}_\alpha \sin(t).$$

Substituting $\underline{\lambda}_\alpha$ and $\bar{\lambda}_\alpha$ are in the lower and the upper solutions, the solution problem (3.1)-(3.2) is obtained as

$$\begin{aligned} \underline{u}_\alpha(t) = & \left(\underline{\varphi}_\alpha - \underline{u}_{p\alpha}(0) \right) \cos(t) & (3.6) \\ & + \frac{\underline{\psi}_\alpha - \left(\underline{\varphi}_\alpha - \underline{u}_{p\alpha}(0) \right) \cos(1) - \underline{u}_{p\alpha}(1)}{\sin(1)} \sin(t) \\ & + \underline{u}_{p\alpha}(t), \end{aligned}$$

$$\begin{aligned} \bar{u}_\alpha(t) = & \left(\bar{\varphi}_\alpha - \bar{u}_{p\alpha}(0) \right) \cos(t) & (3.7) \\ & + \frac{\bar{\psi}_\alpha - \left(\bar{\varphi}_\alpha - \bar{u}_{p\alpha}(0) \right) \cos(1) - \bar{u}_{p\alpha}(1)}{\sin(1)} \sin(t) \\ & + \bar{u}_{p\alpha}(t), \end{aligned}$$

$$[u(t)]^\alpha = [\underline{u}_\alpha(t), \bar{u}_\alpha(t)] \quad (3.8)$$

The Solution According to the Generalized Differentiability

Let find the solution of the problem (3.1)-(3.2) according to the generalized differentiability, where (i,j) solution means that y is (i)-differentiable, y' is (j) differentiable. (i,j=1,2)

For the (1,1) and (2,2) solutions

Using the generalized differentiability for (1,1) and (2,2) solutions, we have

$$\begin{cases} \underline{u}''_\alpha(t) + \underline{u}_\alpha(t) = \underline{g}_\alpha(t) \\ \underline{u}_\alpha(0) = \underline{\varphi}_\alpha, \underline{u}_\alpha(1) = \underline{\psi}_\alpha \end{cases}, \quad (3.9)$$

$$\begin{cases} \bar{u}''_\alpha(t) + \bar{u}_\alpha(t) = \bar{g}_\alpha(t) \\ \bar{u}_\alpha(0) = \bar{\varphi}_\alpha, \bar{u}_\alpha(1) = \bar{\psi}_\alpha \end{cases}. \quad (3.10)$$

From (3.9) and (3.10), the lower and the upper solution is found as

$$\underline{u}_\alpha(t) = b_1(\alpha) \cos(t) + b_2(\alpha) \sin(t) + \underline{u}_{p\alpha}(t),$$

$$\bar{u}_\alpha(t) = b_3(\alpha) \cos(t) + b_4(\alpha) \sin(t) + \bar{u}_{p\alpha}(t),$$

$$[u(t)]^\alpha = [\underline{u}_\alpha(t), \bar{u}_\alpha(t)],$$

where $\underline{u}_{p\alpha}(t)$ and $\bar{u}_{p\alpha}(t)$ are the nonhomogeneous solutions of the differential equations in (3.9) and (3.10). Using the boundary conditions, the coefficients are obtained as

$$b_1(\alpha) = \underline{\varphi}_\alpha - \underline{u}_{p\alpha}(0),$$

$$b_2(\alpha) = \frac{\underline{\psi}_\alpha - \left(\underline{\varphi}_\alpha - \underline{u}_{p\alpha}(0) \right) \cos(1) - \underline{u}_{p\alpha}(1)}{\sin(1)},$$

$$b_3(\alpha) = \bar{\varphi}_\alpha - \bar{u}_{p\alpha}(0),$$

$$b_4(\alpha) = \frac{\bar{\psi}_\alpha - \left(\bar{\varphi}_\alpha - \bar{u}_{p\alpha}(0) \right) \cos(1) - \bar{u}_{p\alpha}(1)}{\sin(1)}.$$

Then for (1,1) and (2,2) solutions, the solution of the problem (3.1)-(3.2) is

$$\begin{aligned} \underline{u}_\alpha(t) = & \left(\underline{\varphi}_\alpha - \underline{u}_{p\alpha}(0) \right) \cos(t) & (3.11) \\ & + \frac{\underline{\psi}_\alpha - \left(\underline{\varphi}_\alpha - \underline{u}_{p\alpha}(0) \right) \cos(1) - \underline{u}_{p\alpha}(1)}{\sin(1)} \sin(t) \\ & + \underline{u}_{p\alpha}(t), \end{aligned}$$

$$\begin{aligned} \bar{u}_\alpha(t) = & \left(\bar{\varphi}_\alpha - \bar{u}_{p\alpha}(0) \right) \cos(t) & (3.12) \\ & + \frac{\bar{\psi}_\alpha - \left(\bar{\varphi}_\alpha - \bar{u}_{p\alpha}(0) \right) \cos(1) - \bar{u}_{p\alpha}(1)}{\sin(1)} \sin(t) \\ & + \bar{u}_{p\alpha}(t), \end{aligned}$$

$$[u(t)]^\alpha = [\underline{u}_\alpha(t), \bar{u}_\alpha(t)]. \quad (3.13)$$

For the (1,2) and (2,1) solutions

Using the generalized differentiability for (1,2) and (2,1) solutions, we have

$$\bar{u}''_\alpha(t) + \underline{u}_\alpha(t) = \underline{g}_\alpha(t),$$

$$\underline{u}''_\alpha(t) + \bar{u}_\alpha(t) = \bar{g}_\alpha(t).$$



From here,

$$\underline{u}_\alpha^{(4)}(t) - \underline{u}_\alpha(t) = \underline{g}_\alpha''(t) - \underline{g}_\alpha(t),$$

$$\bar{u}_\alpha^{(4)}(t) - \bar{u}_\alpha(t) = \bar{g}_\alpha''(t) - \bar{g}_\alpha(t)$$

are obtained. That is, we have

$$\begin{cases} \underline{u}_\alpha^{(4)}(t) - \underline{u}_\alpha(t) = \underline{g}_\alpha''(t) - \underline{g}_\alpha(t) + 1 - \alpha \\ \underline{u}_\alpha(0) = \underline{\varphi}_\alpha, \underline{u}_\alpha(1) = \underline{\psi}_\alpha \end{cases}, \quad (3.14)$$

$$\begin{cases} \bar{u}_\alpha^{(4)}(t) - \bar{u}_\alpha(t) = \bar{g}_\alpha''(t) - \bar{g}_\alpha(t) - 1 + \alpha \\ \bar{u}_\alpha(0) = \bar{\varphi}_\alpha, \bar{u}_\alpha(1) = \bar{\psi}_\alpha \end{cases}. \quad (3.15)$$

From (3.14) and (3.15), the lower and the upper solution is found as

$$\underline{u}_\alpha(t) = c_1(\alpha)e^t + c_2(\alpha)e^{-t} - c_3(\alpha)\sin(t) - c_4(\alpha)\cos(t) + \underline{u}_{p\alpha}(t), \quad (3.16)$$

$$\bar{u}_\alpha(t) = c_1(\alpha)e^t + c_2(\alpha)e^{-t} + c_3(\alpha)\sin(t) + c_4(\alpha)\cos(t) + \bar{u}_{p\alpha}(t), \quad (3.17)$$

$$[u(t)]^\alpha = [\underline{u}_\alpha(t), \bar{u}_\alpha(t)], \quad (3.18)$$

where $\underline{u}_{p\alpha}(t)$ and $\bar{u}_{p\alpha}(t)$ are the nonhomogeneous solutions of the differential equations in (3.14) and (3.15). Using the boundary conditions, the coefficients are obtained as

$$c_1(\alpha) = \frac{-e^{-1}(\underline{\varphi}_\alpha + \bar{\varphi}_\alpha - \underline{u}_{p\alpha}(0) - \bar{u}_{p\alpha}(0))}{2(e - e^{-1})},$$

$$c_2(\alpha) = \frac{-e(\underline{\varphi}_\alpha + \bar{\varphi}_\alpha - \underline{u}_{p\alpha}(0) - \bar{u}_{p\alpha}(0))}{2(e^{-1} - e)},$$

$$c_3(\alpha) = \frac{\bar{\varphi}_\alpha - \underline{\varphi}_\alpha + \underline{u}_{p\alpha}(0) - \bar{u}_{p\alpha}(0)}{2},$$

$$c_4(\alpha) = \frac{(\bar{\psi}_\alpha - \underline{\psi}_\alpha + \underline{u}_{p\alpha}(1) - \bar{u}_{p\alpha}(1))}{2\sin(1)} - \frac{(\bar{\varphi}_\alpha - \underline{\varphi}_\alpha + \underline{u}_{p\alpha}(0) - \bar{u}_{p\alpha}(0))\cos(1)}{2\sin(1)}.$$

Conclusion 3.1. The solution (3.6)-(3.8) according to the noniterative method is the same as the solution (3.11)-(3.13) according to the generalized differentiability for the solutions (1,1) and (2,2).

Example 3.2. Consider the following problem

$$u''(t) + u(t) = [t^2]^\alpha, \quad (3.19)$$

$$u(0) = [-1 + \alpha, 1 - \alpha], u(1) = [\alpha, 2 - \alpha]. \quad (3.20)$$

Firstly, let find the solution according to the noniterative method. Then, since

$$u(t) = u_1(t) + \lambda u_2(t),$$

we have

$$\begin{cases} u_1''(t) + u_1(t) = [t^2]^\alpha \\ u_1(0) = [-1 + \alpha, 1 - \alpha], u_1'(0) = 0 \end{cases}, \quad (3.21)$$

$$\begin{cases} u_2''(t) + u_2(t) = 0 \\ u_2(0) = 0, u_2'(0) = 1 \end{cases}, \quad (3.22)$$

$$\lambda = \frac{[\alpha, 2 - \alpha] - u_1(1)}{u_2(1)}. \quad (3.23)$$

The solution of the equation in (3.21) is

$$\underline{u}_{1\alpha}(t) = c_1(\alpha)\cos t + c_2(\alpha)\sin t + t^2 - 3 + \alpha,$$

$$\bar{u}_{1\alpha}(t) = c_3(\alpha)\cos t + c_4(\alpha)\sin t + t^2 - 1 - \alpha,$$

$$[u_1(t)]^\alpha = [\underline{u}_{1\alpha}(t), \bar{u}_{1\alpha}(t)].$$

Using the initial conditions, the coefficients are found as

$$c_1(\alpha) = c_3(\alpha) = 2,$$

$$c_2(\alpha) = c_4(\alpha) = 0.$$

The solution of the equation in (3.22) is

$$\underline{u}_{2\alpha}(t) = a_1(\alpha)\cos t + a_2(\alpha)\sin t,$$

$$\bar{u}_{2\alpha}(t) = a_3(\alpha)\cos t + a_4(\alpha)\sin t,$$



For the solutions (1,2) and (2,1),

$$[u_2(t)]^\alpha = [\underline{u}_{2\alpha}(t), \bar{u}_{2\alpha}(t)].$$

Using the initial conditions, the coefficients are found as

$$a_1(\alpha) = a_3(\alpha) = 0,$$

$$a_2(\alpha) = a_4(\alpha) = 1.$$

Then, from (3.23)

$$\lambda = \frac{[\alpha, 2 - \alpha] - [2 \cos(1) - 2 + \alpha, 2 \cos(1) - \alpha]}{[\sin(1), \sin(1)]},$$

$$\underline{\lambda} = \bar{\lambda} = \frac{-2 \cos(1) + 2}{\sin(1)} = \frac{2(1 - \cos(1))}{\sin(1)}.$$

Consequently, the solution of the problem (3.19)-(3.20) is

$$\underline{u}_\alpha(t) = 2 \cos t + \frac{2(1 - \cos(1))}{\sin(1)} \sin t + t^2 - 3 + \alpha, \quad (3.24)$$

$$\bar{u}_\alpha(t) = 2 \cos t + \frac{2(1 - \cos(1))}{\sin(1)} \sin t + t^2 - 1 - \alpha, \quad (3.25)$$

$$[u(t)]^\alpha = [\underline{u}_\alpha(t), \bar{u}_\alpha(t)]. \quad (3.26)$$

Secondly, let find the solution according to the generalized differentiability. For the solutions (1,1) and (2,2),

$$\begin{cases} \underline{u}_\alpha''(t) + \underline{u}_\alpha(t) = t^2 - 1 + \alpha, \\ \underline{u}_\alpha(0) = -1 + \alpha, \underline{u}_\alpha(1) = \alpha \end{cases}$$

$$\begin{cases} \bar{u}_\alpha''(t) + \bar{u}_\alpha(t) = t^2 + 1 - \alpha, \\ \bar{u}_\alpha(0) = 1 - \alpha, \bar{u}_\alpha(1) = 2 - \alpha \end{cases}$$

are solved. Then for the solutions (1,1) and (2,2), the solution of the problem (3.19)-(3.20) is

$$\underline{u}_\alpha(t) = 2 \cos t + \frac{2(1 - \cos(1))}{\sin(1)} \sin t + t^2 - 3 + \alpha \quad (3.27)$$

$$\bar{u}_\alpha(t) = 2 \cos t + \frac{2(1 - \cos(1))}{\sin(1)} \sin t + t^2 - 1 - \alpha \quad (3.28)$$

$$[u(t)]^\alpha = [\underline{u}_\alpha(t), \bar{u}_\alpha(t)]. \quad (3.29)$$

$$\begin{cases} \bar{u}_\alpha''(t) + \underline{u}_\alpha(t) = t^2 - 1 + \alpha, \\ \underline{u}_\alpha''(t) + \bar{u}_\alpha(t) = t^2 + 1 + \alpha, \\ \underline{u}_\alpha(0) = -1 + \alpha, \underline{u}_\alpha(1) = \alpha, \\ \bar{u}_\alpha(0) = 1 - \alpha, \bar{u}_\alpha(1) = 2 - \alpha \end{cases}$$

that is

$$\begin{cases} \underline{u}_\alpha^{(4)}(t) - \underline{u}_\alpha(t) = 3 - t^2 - \alpha, \\ \underline{u}_\alpha(0) = -1 + \alpha, \underline{u}_\alpha(1) = \alpha, \end{cases}$$

$$\begin{cases} \bar{u}_\alpha^{(4)}(t) + \bar{u}_\alpha(t) = 1 - t^2 + \alpha, \\ \bar{u}_\alpha(0) = 1 - \alpha, \bar{u}_\alpha(1) = 2 - \alpha \end{cases}$$

are solved. Then for the solutions (1,2) and (2,1), the solution of the problem (3.19)-(3.20) is

$$\underline{u}_\alpha(t) = \frac{2(e^{-1} - 1)}{e^{-1} - e} e^t + \frac{2(1 - e)}{e^{-1} - e} e^{-t} + t^2 - 3 + \alpha \quad (3.30)$$

$$\bar{u}_\alpha(t) = \frac{2(e^{-1} - 1)}{e^{-1} - e} e^t + \frac{2(1 - e)}{e^{-1} - e} e^{-t} + t^2 - 1 - \alpha \quad (3.31)$$

$$[u(t)]^\alpha = [\underline{u}_\alpha(t), \bar{u}_\alpha(t)]. \quad (3.32)$$

The solution (3.24)-(3.26) according to the noniterative method is the same as the solution (3.27)-(3.29) according to the generalized differentiability for the solutions (1,1) and (2,2). Also, all of the solutions are a valid α -level set.

References

- [1] T. Allahviranloo, M. Chehlabi, Solving fuzzy differential equations based on the length function properties, *Soft. Comput.*, 19 (2015) 307-320.
- [2] T. Allahviranloo, K. Khalilpour, A numerical method for two-point fuzzy boundary value problems, *World Appl. Sci. J.* 13 (10) (2011) 2137-2147.
- [3] B. Bede, A note on "two-point boundary value problems associated with non-linear fuzzy differential equations", *Fuzzy Sets Syst.* 157 (2006) 986-989.
- [4] B. Bede, Note on "Numerical solutions of fuzzy differential equations by predictor method", *Inf. Sci.*, **178** (2008), 1917-1922.
- [5] B. Bede, S.G. Gal, Generalizations of the differentiability of fuzzy number valued functions with applications to fuzzy differential equation, *Fuzzy Sets Syst.* 151 (2005) 581-599.



- [6] B. Bede, L. Stefanini, Generalized differentiability of fuzzy-valued functions, *Fuzzy Sets Syst.* 230 (2013) 119-141.
- [7] J.J. Buckley, T. Feuring, *Fuzzy differential equations*, *Fuzzy Sets and Systems*, **110** (2000), 43-54.
- [8] J.J Buckley, T. Feuring, *Fuzzy initial value problem for Nth-order linear differential equation*, *Fuzzy Sets and Systems*, **121** (2001), 247-255.
- [9] E. Can, M. A. Bayrak, A new method for solution of fuzzy reaction equation, *MATCH Commun. Math. Comput. Chem.* 73 (2015) 649-661.
- [10] D. Dubois, H. Prade, *Operations on fuzzy numbers*, *Int. J. Syst. Sci.* **9** (1978), 613-626.
- [11] N.A. Gasilov, S.E. Amrahov, A.G Fatullayev, *A geometric approach to solve fuzzy linear systems of differential equations*, *Appl. Math. Inf. Sci.* **5** (2011), 484-495.
- [12] X. Guo, D. Shang, X. Lu, *Fuzzy approximate solutions of second-order fuzzy linear boundary value problems*, *Boundary Value Problems*, 2013, doi:10.1186/1687-2770-2013-212.
- [13] E. Hüllermeir, *An approach to modeling and simulation of uncertain dynamical systems*, *Internat. J. Uncertainty Fuzziness Knowledge-Based Systems* **5** (1997), 117-137.
- [14] O. Kaleva, *Fuzzy differential equations*, *Fuzzy Sets and Systems*, **24** (1987), 301-317.
- [15] O. Kaleva, The Cauchy problem for fuzzy differential equations, *Fuzzy Sets Syst.* 35 (1990) 389-396.
- [16] A. Khastan, F. Bahrami, K. Ivaz, *New results on multiple solutions for Nth-order fuzzy differential equations under generalized differentiability*, *Boundary Value Problems*, doi:10.1155/2009/395714, 2009.
- [17] A. Khastan, J.J. Nieto, *A boundary value problem for second order fuzzy differential equations*, *Nonlinear Analysis* **72** (2010), 3583-3593.
- [18] H.K Liu, *Comparations results of two-point fuzzy boundary value problems*. *International Journal of Computational and Mathematical Sciences*, **5**:1, 2011.
- [19] M.L Puri, D.A. Ralescu, *Differentials for fuzzy functions*, *J. Math. Anal. Appl.*, **91** (1983), 552-558.

ISSN(P):2319 – 3786
Malaya Journal of Matematik
ISSN(O):2321 – 5666

